
Assuming that all the premises are true what conclusion would you draw? 

If Laura has red hair, then she wears glasses.
Laura doesn’t wear glasses.
Assuming that all the premises are true what conclusion would you draw? 

Either Stefano doesn’t  have black hair or else he wears a hat but not both.
Stefano has black hair.
Assuming that all the premises are true what conclusion would you draw? 

Antonio wears a hat or he has moustaches or both
Antonio doesn’t wear a hat.
Assuming that all the premises are true what conclusion would you draw? 

If Mary wears glasses then she has green eyes.
Mary wears glasses or else she has green eyes but not both.
Assuming that all the premises are true what conclusion would you draw? 

Either Giorgio has  blue eyes or else he smokes a cigar but not both
If Giorgio has brown hair then he has blue eyes.
Giorgio has blue eyes.
Assuming that all the premises are true what conclusion would you draw? 

Either Luigi has curled hair and he wears glasses 

or else 

Luigi has dark eyes and beard
but not both

Luigi has curled hair.
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